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Solve each problem.

1) A company was offering a special on cell phones for $3 each. But only if
you spent 5 dollars a month for 2 months. How much would it end up
costing you total if you bought 1 phone?

5×2=10
10+3=13

2) A pet store sold 9 kittens and 1 puppy over the weekend. The kittens sold
for $6 each and the puppy sold for $3. How much money did they earn
from selling the pets?

9×6=54
54+3=57

3) A baker made 2 batches of chocolate chip cookies. Each batch had 5
cookies in it. Then he made an additional 6 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

2×5=10
10+6=16

4) A clothing company used 9 buttons on jeans and 5 buttons on shirts. If
they made 3 shirts and 1 pair of jeans how many buttons would they use
total?

5×3=15
15+9=24

5) A malt shop used 8 ounces of chocolate syrup in their shakes and 7
ounces of syrup on their cones. If they sold 9 shakes and 1 cone, how
many ounces of chocolate would they use total?

8×9=72
72+7=79

6) Will had 3 boxes of toys. Each box had 5 toys. Later Will bought 9 more
toys. How many toys did he have total?

3×5=15
15+9=24

7) It takes 6 ounces of cheese to make a burrito and 2 ounces for a taco. If
you wanted 9 burritos and 1 taco how many ounces of cheese would you
need?

9×6=54
54+2=56

8) Adam spent $6 on a board game and then he bought 5 action figures for
$2 each. How much money did he spend on the game and figures?

5×2=10
10+6=16

9) At a comic convention Faye wanted to buy 6 comics, but each one costs 5
dollars, plus it costs 7 to even get in. How much money should she take
with her so she can get in and buy what she wants?

6×5=30
30+7=37

10) Before lunch a waitress had already earned $8 in tips. After lunch she had
9 customers and each customer gave her a 3 dollar tip. How much money
did she earn total?

9×3=27
27+8=35

Answers

1. 13

2. 57

3. 16

4. 24

5. 79

6. 24

7. 56

8. 16

9. 37

10. 35
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Solve each problem.
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1) A company was offering a special on cell phones for $3 each. But only if
you spent 5 dollars a month for 2 months. How much would it end up
costing you total if you bought 1 phone?

5×2=10
10+3=13

2) A pet store sold 9 kittens and 1 puppy over the weekend. The kittens sold
for $6 each and the puppy sold for $3. How much money did they earn
from selling the pets?

9×6=54
54+3=57

3) A baker made 2 batches of chocolate chip cookies. Each batch had 5
cookies in it. Then he made an additional 6 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

2×5=10
10+6=16

4) A clothing company used 9 buttons on jeans and 5 buttons on shirts. If
they made 3 shirts and 1 pair of jeans how many buttons would they use
total?

5×3=15
15+9=24

5) A malt shop used 8 ounces of chocolate syrup in their shakes and 7
ounces of syrup on their cones. If they sold 9 shakes and 1 cone, how
many ounces of chocolate would they use total?

8×9=72
72+7=79

6) Will had 3 boxes of toys. Each box had 5 toys. Later Will bought 9 more
toys. How many toys did he have total?

3×5=15
15+9=24

7) It takes 6 ounces of cheese to make a burrito and 2 ounces for a taco. If
you wanted 9 burritos and 1 taco how many ounces of cheese would you
need?

9×6=54
54+2=56

8) Adam spent $6 on a board game and then he bought 5 action figures for
$2 each. How much money did he spend on the game and figures?

5×2=10
10+6=16

Answers

1. 13

2. 57

3. 16

4. 24

5. 79

6. 24

7. 56

8. 16
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Solve each problem.

1) A pet store sold 6 kittens and 1 puppy over the weekend. The kittens sold
for $7 each and the puppy sold for $9. How much money did they earn
from selling the pets?

6×7=42
42+9=51

2) Before lunch a waitress had already earned $5 in tips. After lunch she had
2 customers and each customer gave her a 3 dollar tip. How much money
did she earn total?

2×3=6
6+5=11

3) A clothing company used 9 buttons on jeans and 3 buttons on shirts. If
they made 4 shirts and 1 pair of jeans how many buttons would they use
total?

3×4=12
12+9=21

4) A baker made 6 batches of chocolate chip cookies. Each batch had 7
cookies in it. Then he made an additional 9 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

6×7=42
42+9=51

5) A malt shop used 6 ounces of chocolate syrup in their shakes and 4
ounces of syrup on their cones. If they sold 3 shakes and 1 cone, how
many ounces of chocolate would they use total?

6×3=18
18+4=22

6) A music teacher had 3 recorders, but she decided to buy 2 more boxes
with each box having 5 recorders in it. How many recorders did she have
after buying the 2 boxes?

2×5=10
10+3=13

7) A lawn care company bought 4 lawnmower blade for $8 each. They also
bought a spool of weed eater string for $3. How much money did they
spend on supplies?

4×8=32
32+3=35

8) At band practice there were 2 rows of students with 8 students in each
row and then another 5 students in the back. How many students were
there total?

2×8=16
16+5=21

9) Isabel bought an app that cost $7 dollars. Then each month you have to
pay $3 to play online. If she played the game online for 5 months, how
much money would she have spent total for the app and the online access?

3×5=15
15+7=22

10) Olivia worked as a sacker at the grocery store where she made $4/hr. If
she worked for 9 hours and also made $7 in tips, how much money did
she earn?

9×4=36
36+7=43

Answers

1. 51

2. 11

3. 21

4. 51

5. 22

6. 13

7. 35

8. 21

9. 22

10. 43
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after buying the 2 boxes?
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Solve each problem.
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1) A pet store sold 6 kittens and 1 puppy over the weekend. The kittens sold
for $7 each and the puppy sold for $9. How much money did they earn
from selling the pets?

6×7=42
42+9=51

2) Before lunch a waitress had already earned $5 in tips. After lunch she had
2 customers and each customer gave her a 3 dollar tip. How much money
did she earn total?

2×3=6
6+5=11

3) A clothing company used 9 buttons on jeans and 3 buttons on shirts. If
they made 4 shirts and 1 pair of jeans how many buttons would they use
total?

3×4=12
12+9=21

4) A baker made 6 batches of chocolate chip cookies. Each batch had 7
cookies in it. Then he made an additional 9 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

6×7=42
42+9=51

5) A malt shop used 6 ounces of chocolate syrup in their shakes and 4
ounces of syrup on their cones. If they sold 3 shakes and 1 cone, how
many ounces of chocolate would they use total?

6×3=18
18+4=22

6) A music teacher had 3 recorders, but she decided to buy 2 more boxes
with each box having 5 recorders in it. How many recorders did she have
after buying the 2 boxes?

2×5=10
10+3=13

7) A lawn care company bought 4 lawnmower blade for $8 each. They also
bought a spool of weed eater string for $3. How much money did they
spend on supplies?

4×8=32
32+3=35

8) At band practice there were 2 rows of students with 8 students in each
row and then another 5 students in the back. How many students were
there total?

2×8=16
16+5=21

Answers

1. 51

2. 11
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7. 35

8. 21
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Solve each problem.

1) A company was offering a special on cell phones for $3 each. But only if
you spent 8 dollars a month for 4 months. How much would it end up
costing you total if you bought 1 phone?

8×4=32
32+3=35

2) At band practice there were 8 rows of students with 4 students in each
row and then another 9 students in the back. How many students were
there total?

8×4=32
32+9=41

3) A music teacher had 4 recorders, but she decided to buy 7 more boxes
with each box having 9 recorders in it. How many recorders did she have
after buying the 7 boxes?

7×9=63
63+4=67

4) At a comic convention Lana wanted to buy 3 comics, but each one costs 6
dollars, plus it costs 9 to even get in. How much money should she take
with her so she can get in and buy what she wants?

3×6=18
18+9=27

5) It takes 9 ounces of cheese to make a burrito and 5 ounces for a taco. If
you wanted 4 burritos and 1 taco how many ounces of cheese would you
need?

4×9=36
36+5=41

6) While playing a game Henry defeated 6 enemies. Each enemy earned him
2 points. Then he got another 8 points for completing the level. How
many points did he earn total?

6×2=12
12+8=20

7) A pet store sold 8 kittens and 1 puppy over the weekend. The kittens sold
for $5 each and the puppy sold for $9. How much money did they earn
from selling the pets?

8×5=40
40+9=49

8) Emily bought an app that cost $2 dollars. Then each month you have to
pay $5 to play online. If she played the game online for 8 months, how
much money would she have spent total for the app and the online access?

5×8=40
40+2=42

9) At the arcade Sarah had 6 tickets she saved from the last time she went.
This time she played a game 2 times and earned 9 tickets each time she
played. How many tickets does she have now?

2×9=18
18+6=24

10) Gwen had 4 math problems to complete. She spent about 9 minutes on
each problem and then she spent 6 minutes checking her answers. How
many minutes did she spend total?

4×9=36
36+6=42

Answers

1. 35

2. 41

3. 67

4. 27

5. 41

6. 20

7. 49

8. 42

9. 24

10. 42
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8) Emily bought an app that cost $2 dollars. Then each month you have to
pay $5 to play online. If she played the game online for 8 months, how
much money would she have spent total for the app and the online access?

5×8=40
40+2=42

9) At the arcade Sarah had 6 tickets she saved from the last time she went.
This time she played a game 2 times and earned 9 tickets each time she
played. How many tickets does she have now?

2×9=18
18+6=24

10) Gwen had 4 math problems to complete. She spent about 9 minutes on
each problem and then she spent 6 minutes checking her answers. How
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Solve each problem.
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1) A company was offering a special on cell phones for $3 each. But only if
you spent 8 dollars a month for 4 months. How much would it end up
costing you total if you bought 1 phone?

8×4=32
32+3=35

2) At band practice there were 8 rows of students with 4 students in each
row and then another 9 students in the back. How many students were
there total?

8×4=32
32+9=41

3) A music teacher had 4 recorders, but she decided to buy 7 more boxes
with each box having 9 recorders in it. How many recorders did she have
after buying the 7 boxes?

7×9=63
63+4=67

4) At a comic convention Lana wanted to buy 3 comics, but each one costs 6
dollars, plus it costs 9 to even get in. How much money should she take
with her so she can get in and buy what she wants?

3×6=18
18+9=27

5) It takes 9 ounces of cheese to make a burrito and 5 ounces for a taco. If
you wanted 4 burritos and 1 taco how many ounces of cheese would you
need?

4×9=36
36+5=41

6) While playing a game Henry defeated 6 enemies. Each enemy earned him
2 points. Then he got another 8 points for completing the level. How
many points did he earn total?

6×2=12
12+8=20

7) A pet store sold 8 kittens and 1 puppy over the weekend. The kittens sold
for $5 each and the puppy sold for $9. How much money did they earn
from selling the pets?

8×5=40
40+9=49

8) Emily bought an app that cost $2 dollars. Then each month you have to
pay $5 to play online. If she played the game online for 8 months, how
much money would she have spent total for the app and the online access?

5×8=40
40+2=42

Answers

1. 35

2. 41

3. 67

4. 27

5. 41

6. 20

7. 49

8. 42
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Solve each problem.

1) At band practice there were 9 rows of students with 7 students in each
row and then another 4 students in the back. How many students were
there total?

9×7=63
63+4=67

2) Nancy worked as a sacker at the grocery store where she made $5/hr. If
she worked for 3 hours and also made $6 in tips, how much money did
she earn?

3×5=15
15+6=21

3) It takes 4 ounces of cheese to make a burrito and 3 ounces for a taco. If
you wanted 5 burritos and 1 taco how many ounces of cheese would you
need?

5×4=20
20+3=23

4) A baker made 8 batches of chocolate chip cookies. Each batch had 2
cookies in it. Then he made an additional 3 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

8×2=16
16+3=19

5) A malt shop used 5 ounces of chocolate syrup in their shakes and 2
ounces of syrup on their cones. If they sold 8 shakes and 1 cone, how
many ounces of chocolate would they use total?

5×8=40
40+2=42

6) At a comic convention Robin wanted to buy 7 comics, but each one costs
8 dollars, plus it costs 3 to even get in. How much money should she take
with her so she can get in and buy what she wants?

7×8=56
56+3=59

7) A lawn care company bought 8 lawnmower blade for $9 each. They also
bought a spool of weed eater string for $7. How much money did they
spend on supplies?

8×9=72
72+7=79

8) Bianca's brother had 8 pieces of candy. Bianca had 2 boxes with 3 pieces
each. How many pieces did they have total?

2×3=6
6+8=14

9) A chef only had 9 apples so he ordered 5 more bags. If each bag has 7
apples, how many apples does he have total?

5×7=35
35+9=44

10) Before lunch a waitress had already earned $5 in tips. After lunch she had
8 customers and each customer gave her a 3 dollar tip. How much money
did she earn total?

8×3=24
24+5=29

Answers

1. 67

2. 21

3. 23

4. 19

5. 42

6. 59

7. 79

8. 14

9. 44

10. 29
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Solve each problem.

1) At band practice there were 9 rows of students with 7 students in each
row and then another 4 students in the back. How many students were
there total?

9×7=63
63+4=67

2) Nancy worked as a sacker at the grocery store where she made $5/hr. If
she worked for 3 hours and also made $6 in tips, how much money did
she earn?

3×5=15
15+6=21

3) It takes 4 ounces of cheese to make a burrito and 3 ounces for a taco. If
you wanted 5 burritos and 1 taco how many ounces of cheese would you
need?

5×4=20
20+3=23

4) A baker made 8 batches of chocolate chip cookies. Each batch had 2
cookies in it. Then he made an additional 3 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

8×2=16
16+3=19

5) A malt shop used 5 ounces of chocolate syrup in their shakes and 2
ounces of syrup on their cones. If they sold 8 shakes and 1 cone, how
many ounces of chocolate would they use total?

5×8=40
40+2=42

6) At a comic convention Robin wanted to buy 7 comics, but each one costs
8 dollars, plus it costs 3 to even get in. How much money should she take
with her so she can get in and buy what she wants?

7×8=56
56+3=59

7) A lawn care company bought 8 lawnmower blade for $9 each. They also
bought a spool of weed eater string for $7. How much money did they
spend on supplies?

8×9=72
72+7=79

8) Bianca's brother had 8 pieces of candy. Bianca had 2 boxes with 3 pieces
each. How many pieces did they have total?

2×3=6
6+8=14

9) A chef only had 9 apples so he ordered 5 more bags. If each bag has 7
apples, how many apples does he have total?

5×7=35
35+9=44

10) Before lunch a waitress had already earned $5 in tips. After lunch she had
8 customers and each customer gave her a 3 dollar tip. How much money
did she earn total?

8×3=24
24+5=29

Answers
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Solve each problem.
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1) At band practice there were 9 rows of students with 7 students in each
row and then another 4 students in the back. How many students were
there total?

9×7=63
63+4=67

2) Nancy worked as a sacker at the grocery store where she made $5/hr. If
she worked for 3 hours and also made $6 in tips, how much money did
she earn?

3×5=15
15+6=21

3) It takes 4 ounces of cheese to make a burrito and 3 ounces for a taco. If
you wanted 5 burritos and 1 taco how many ounces of cheese would you
need?

5×4=20
20+3=23

4) A baker made 8 batches of chocolate chip cookies. Each batch had 2
cookies in it. Then he made an additional 3 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

8×2=16
16+3=19

5) A malt shop used 5 ounces of chocolate syrup in their shakes and 2
ounces of syrup on their cones. If they sold 8 shakes and 1 cone, how
many ounces of chocolate would they use total?

5×8=40
40+2=42

6) At a comic convention Robin wanted to buy 7 comics, but each one costs
8 dollars, plus it costs 3 to even get in. How much money should she take
with her so she can get in and buy what she wants?

7×8=56
56+3=59

7) A lawn care company bought 8 lawnmower blade for $9 each. They also
bought a spool of weed eater string for $7. How much money did they
spend on supplies?

8×9=72
72+7=79

8) Bianca's brother had 8 pieces of candy. Bianca had 2 boxes with 3 pieces
each. How many pieces did they have total?

2×3=6
6+8=14

Answers

1. 67

2. 21

3. 23

4. 19

5. 42

6. 59

7. 79

8. 14

1-8 88 75 63 50 38 25 13 0
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Solve each problem.

1) At the arcade Olivia had 7 tickets she saved from the last time she went.
This time she played a game 5 times and earned 3 tickets each time she
played. How many tickets does she have now?

5×3=15
15+7=22

2) A baker made 8 batches of chocolate chip cookies. Each batch had 6
cookies in it. Then he made an additional 7 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

8×6=48
48+7=55

3) At a comic convention Vanessa wanted to buy 8 comics, but each one
costs 5 dollars, plus it costs 9 to even get in. How much money should she
take with her so she can get in and buy what she wants?

8×5=40
40+9=49

4) At band practice there were 3 rows of students with 7 students in each
row and then another 2 students in the back. How many students were
there total?

3×7=21
21+2=23

5) Will spent $3 on a board game and then he bought 8 action figures for $7
each. How much money did he spend on the game and figures?

8×7=56
56+3=59

6) Robin worked as a sacker at the grocery store where she made $2/hr. If
she worked for 5 hours and also made $6 in tips, how much money did
she earn?

5×2=10
10+6=16

7) A music teacher had 4 recorders, but she decided to buy 5 more boxes
with each box having 7 recorders in it. How many recorders did she have
after buying the 5 boxes?

5×7=35
35+4=39

8) Henry had 5 boxes of toys. Each box had 2 toys. Later Henry bought 6
more toys. How many toys did he have total?

5×2=10
10+6=16

9) Emily bought an app that cost $6 dollars. Then each month you have to
pay $5 to play online. If she played the game online for 8 months, how
much money would she have spent total for the app and the online access?

5×8=40
40+6=46

10) A chef only had 8 apples so he ordered 7 more bags. If each bag has 9
apples, how many apples does he have total?

7×9=63
63+8=71

Answers

1. 22

2. 55

3. 49

4. 23

5. 59

6. 16

7. 39

8. 16

9. 46

10. 71



Name: Answer KeyTwo Step Problems

Math www.CommonCoreSheets.com 5

Solve each problem.

1) At the arcade Olivia had 7 tickets she saved from the last time she went.
This time she played a game 5 times and earned 3 tickets each time she
played. How many tickets does she have now?

5×3=15
15+7=22

2) A baker made 8 batches of chocolate chip cookies. Each batch had 6
cookies in it. Then he made an additional 7 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

8×6=48
48+7=55

3) At a comic convention Vanessa wanted to buy 8 comics, but each one
costs 5 dollars, plus it costs 9 to even get in. How much money should she
take with her so she can get in and buy what she wants?

8×5=40
40+9=49

4) At band practice there were 3 rows of students with 7 students in each
row and then another 2 students in the back. How many students were
there total?

3×7=21
21+2=23

5) Will spent $3 on a board game and then he bought 8 action figures for $7
each. How much money did he spend on the game and figures?

8×7=56
56+3=59

6) Robin worked as a sacker at the grocery store where she made $2/hr. If
she worked for 5 hours and also made $6 in tips, how much money did
she earn?

5×2=10
10+6=16

7) A music teacher had 4 recorders, but she decided to buy 5 more boxes
with each box having 7 recorders in it. How many recorders did she have
after buying the 5 boxes?

5×7=35
35+4=39

8) Henry had 5 boxes of toys. Each box had 2 toys. Later Henry bought 6
more toys. How many toys did he have total?

5×2=10
10+6=16

9) Emily bought an app that cost $6 dollars. Then each month you have to
pay $5 to play online. If she played the game online for 8 months, how
much money would she have spent total for the app and the online access?

5×8=40
40+6=46

10) A chef only had 8 apples so he ordered 7 more bags. If each bag has 9
apples, how many apples does he have total?

7×9=63
63+8=71

Answers

1. 22

2. 55

3. 49

4. 23

5. 59

6. 16

7. 39

8. 16

9. 46

10. 71
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Name: Answer KeyTwo Step Problems

Math www.CommonCoreSheets.com
Modified 5

Solve each problem.

22 59 16 49 23

39 16 55

1) At the arcade Olivia had 7 tickets she saved from the last time she went.
This time she played a game 5 times and earned 3 tickets each time she
played. How many tickets does she have now?

5×3=15
15+7=22

2) A baker made 8 batches of chocolate chip cookies. Each batch had 6
cookies in it. Then he made an additional 7 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

8×6=48
48+7=55

3) At a comic convention Vanessa wanted to buy 8 comics, but each one
costs 5 dollars, plus it costs 9 to even get in. How much money should she
take with her so she can get in and buy what she wants?

8×5=40
40+9=49

4) At band practice there were 3 rows of students with 7 students in each
row and then another 2 students in the back. How many students were
there total?

3×7=21
21+2=23

5) Will spent $3 on a board game and then he bought 8 action figures for $7
each. How much money did he spend on the game and figures?

8×7=56
56+3=59

6) Robin worked as a sacker at the grocery store where she made $2/hr. If
she worked for 5 hours and also made $6 in tips, how much money did
she earn?

5×2=10
10+6=16

7) A music teacher had 4 recorders, but she decided to buy 5 more boxes
with each box having 7 recorders in it. How many recorders did she have
after buying the 5 boxes?

5×7=35
35+4=39

8) Henry had 5 boxes of toys. Each box had 2 toys. Later Henry bought 6
more toys. How many toys did he have total?

5×2=10
10+6=16

Answers

1. 22

2. 55

3. 49

4. 23

5. 59

6. 16

7. 39

8. 16

1-8 88 75 63 50 38 25 13 0
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Solve each problem.

1) A company was offering a special on cell phones for $4 each. But only if
you spent 2 dollars a month for 7 months. How much would it end up
costing you total if you bought 1 phone?

2×7=14
14+4=18

2) It takes 8 ounces of cheese to make a burrito and 3 ounces for a taco. If
you wanted 5 burritos and 1 taco how many ounces of cheese would you
need?

5×8=40
40+3=43

3) A florist needed to use 3 pounds of fertilizer for 2 days and then on the
final day use the normal amount plus another 7 pounds. How many
pounds of fertilizer will she use all together?

3×2=6
6+7=13

4) Sarah bought an app that cost $5 dollars. Then each month you have to
pay $4 to play online. If she played the game online for 8 months, how
much money would she have spent total for the app and the online access?

4×8=32
32+5=37

5) A music teacher had 7 recorders, but she decided to buy 8 more boxes
with each box having 4 recorders in it. How many recorders did she have
after buying the 8 boxes?

8×4=32
32+7=39

6) While playing a game Adam defeated 3 enemies. Each enemy earned him
4 points. Then he got another 2 points for completing the level. How
many points did he earn total?

3×4=12
12+2=14

7) Kaleb earned 9 dollars for every lawn he mowed. If he mowed 8 lawns
and he already had 7 dollars saved up, how much money does he have
total?

8×9=72
72+7=79

8) A baker made 2 batches of chocolate chip cookies. Each batch had 8
cookies in it. Then he made an additional 7 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

2×8=16
16+7=23

9) At band practice there were 6 rows of students with 2 students in each
row and then another 3 students in the back. How many students were
there total?

6×2=12
12+3=15

10) At the arcade Carol had 9 tickets she saved from the last time she went.
This time she played a game 7 times and earned 8 tickets each time she
played. How many tickets does she have now?

7×8=56
56+9=65

Answers

1. 18

2. 43

3. 13

4. 37

5. 39

6. 14

7. 79

8. 23

9. 15

10. 65



Name: Answer KeyTwo Step Problems

Math www.CommonCoreSheets.com 6

Solve each problem.

1) A company was offering a special on cell phones for $4 each. But only if
you spent 2 dollars a month for 7 months. How much would it end up
costing you total if you bought 1 phone?

2×7=14
14+4=18

2) It takes 8 ounces of cheese to make a burrito and 3 ounces for a taco. If
you wanted 5 burritos and 1 taco how many ounces of cheese would you
need?

5×8=40
40+3=43

3) A florist needed to use 3 pounds of fertilizer for 2 days and then on the
final day use the normal amount plus another 7 pounds. How many
pounds of fertilizer will she use all together?

3×2=6
6+7=13

4) Sarah bought an app that cost $5 dollars. Then each month you have to
pay $4 to play online. If she played the game online for 8 months, how
much money would she have spent total for the app and the online access?

4×8=32
32+5=37

5) A music teacher had 7 recorders, but she decided to buy 8 more boxes
with each box having 4 recorders in it. How many recorders did she have
after buying the 8 boxes?

8×4=32
32+7=39

6) While playing a game Adam defeated 3 enemies. Each enemy earned him
4 points. Then he got another 2 points for completing the level. How
many points did he earn total?

3×4=12
12+2=14

7) Kaleb earned 9 dollars for every lawn he mowed. If he mowed 8 lawns
and he already had 7 dollars saved up, how much money does he have
total?

8×9=72
72+7=79

8) A baker made 2 batches of chocolate chip cookies. Each batch had 8
cookies in it. Then he made an additional 7 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

2×8=16
16+7=23

9) At band practice there were 6 rows of students with 2 students in each
row and then another 3 students in the back. How many students were
there total?

6×2=12
12+3=15

10) At the arcade Carol had 9 tickets she saved from the last time she went.
This time she played a game 7 times and earned 8 tickets each time she
played. How many tickets does she have now?

7×8=56
56+9=65

Answers

1. 18

2. 43

3. 13

4. 37

5. 39

6. 14

7. 79

8. 23

9. 15

10. 65
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Modified 6

Solve each problem.

13 39 14 23 43

37 79 18

1) A company was offering a special on cell phones for $4 each. But only if
you spent 2 dollars a month for 7 months. How much would it end up
costing you total if you bought 1 phone?

2×7=14
14+4=18

2) It takes 8 ounces of cheese to make a burrito and 3 ounces for a taco. If
you wanted 5 burritos and 1 taco how many ounces of cheese would you
need?

5×8=40
40+3=43

3) A florist needed to use 3 pounds of fertilizer for 2 days and then on the
final day use the normal amount plus another 7 pounds. How many
pounds of fertilizer will she use all together?

3×2=6
6+7=13

4) Sarah bought an app that cost $5 dollars. Then each month you have to
pay $4 to play online. If she played the game online for 8 months, how
much money would she have spent total for the app and the online access?

4×8=32
32+5=37

5) A music teacher had 7 recorders, but she decided to buy 8 more boxes
with each box having 4 recorders in it. How many recorders did she have
after buying the 8 boxes?

8×4=32
32+7=39

6) While playing a game Adam defeated 3 enemies. Each enemy earned him
4 points. Then he got another 2 points for completing the level. How
many points did he earn total?

3×4=12
12+2=14

7) Kaleb earned 9 dollars for every lawn he mowed. If he mowed 8 lawns
and he already had 7 dollars saved up, how much money does he have
total?

8×9=72
72+7=79

8) A baker made 2 batches of chocolate chip cookies. Each batch had 8
cookies in it. Then he made an additional 7 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

2×8=16
16+7=23

Answers

1. 18

2. 43

3. 13

4. 37

5. 39

6. 14

7. 79

8. 23

1-8 88 75 63 50 38 25 13 0
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Solve each problem.

1) Vanessa had 4 math problems to complete. She spent about 5 minutes on
each problem and then she spent 8 minutes checking her answers. How
many minutes did she spend total?

4×5=20
20+8=28

2) A lawn care company bought 3 lawnmower blade for $7 each. They also
bought a spool of weed eater string for $8. How much money did they
spend on supplies?

3×7=21
21+8=29

3) A malt shop used 3 ounces of chocolate syrup in their shakes and 6
ounces of syrup on their cones. If they sold 9 shakes and 1 cone, how
many ounces of chocolate would they use total?

3×9=27
27+6=33

4) At a comic convention Paige wanted to buy 8 comics, but each one costs
3 dollars, plus it costs 7 to even get in. How much money should she take
with her so she can get in and buy what she wants?

8×3=24
24+7=31

5) A baker made 5 batches of chocolate chip cookies. Each batch had 4
cookies in it. Then he made an additional 9 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

5×4=20
20+9=29

6) Oliver earned 3 dollars for every lawn he mowed. If he mowed 5 lawns
and he already had 6 dollars saved up, how much money does he have
total?

5×3=15
15+6=21

7) At band practice there were 8 rows of students with 2 students in each
row and then another 3 students in the back. How many students were
there total?

8×2=16
16+3=19

8) Adam had 6 boxes of toys. Each box had 3 toys. Later Adam bought 8
more toys. How many toys did he have total?

6×3=18
18+8=26

9) A company was offering a special on cell phones for $5 each. But only if
you spent 9 dollars a month for 6 months. How much would it end up
costing you total if you bought 1 phone?

9×6=54
54+5=59

10) A music teacher had 2 recorders, but she decided to buy 9 more boxes
with each box having 6 recorders in it. How many recorders did she have
after buying the 9 boxes?

9×6=54
54+2=56

Answers

1. 28

2. 29

3. 33

4. 31

5. 29

6. 21

7. 19

8. 26

9. 59

10. 56



Name: Answer KeyTwo Step Problems

Math www.CommonCoreSheets.com 7

Solve each problem.

1) Vanessa had 4 math problems to complete. She spent about 5 minutes on
each problem and then she spent 8 minutes checking her answers. How
many minutes did she spend total?

4×5=20
20+8=28

2) A lawn care company bought 3 lawnmower blade for $7 each. They also
bought a spool of weed eater string for $8. How much money did they
spend on supplies?

3×7=21
21+8=29

3) A malt shop used 3 ounces of chocolate syrup in their shakes and 6
ounces of syrup on their cones. If they sold 9 shakes and 1 cone, how
many ounces of chocolate would they use total?

3×9=27
27+6=33

4) At a comic convention Paige wanted to buy 8 comics, but each one costs
3 dollars, plus it costs 7 to even get in. How much money should she take
with her so she can get in and buy what she wants?

8×3=24
24+7=31

5) A baker made 5 batches of chocolate chip cookies. Each batch had 4
cookies in it. Then he made an additional 9 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

5×4=20
20+9=29

6) Oliver earned 3 dollars for every lawn he mowed. If he mowed 5 lawns
and he already had 6 dollars saved up, how much money does he have
total?

5×3=15
15+6=21

7) At band practice there were 8 rows of students with 2 students in each
row and then another 3 students in the back. How many students were
there total?

8×2=16
16+3=19

8) Adam had 6 boxes of toys. Each box had 3 toys. Later Adam bought 8
more toys. How many toys did he have total?

6×3=18
18+8=26

9) A company was offering a special on cell phones for $5 each. But only if
you spent 9 dollars a month for 6 months. How much would it end up
costing you total if you bought 1 phone?

9×6=54
54+5=59

10) A music teacher had 2 recorders, but she decided to buy 9 more boxes
with each box having 6 recorders in it. How many recorders did she have
after buying the 9 boxes?

9×6=54
54+2=56

Answers

1. 28

2. 29

3. 33

4. 31

5. 29

6. 21

7. 19

8. 26

9. 59

10. 56
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Modified 7

Solve each problem.

29 26 19 21 31

28 29 33

1) Vanessa had 4 math problems to complete. She spent about 5 minutes on
each problem and then she spent 8 minutes checking her answers. How
many minutes did she spend total?

4×5=20
20+8=28

2) A lawn care company bought 3 lawnmower blade for $7 each. They also
bought a spool of weed eater string for $8. How much money did they
spend on supplies?

3×7=21
21+8=29

3) A malt shop used 3 ounces of chocolate syrup in their shakes and 6
ounces of syrup on their cones. If they sold 9 shakes and 1 cone, how
many ounces of chocolate would they use total?

3×9=27
27+6=33

4) At a comic convention Paige wanted to buy 8 comics, but each one costs
3 dollars, plus it costs 7 to even get in. How much money should she take
with her so she can get in and buy what she wants?

8×3=24
24+7=31

5) A baker made 5 batches of chocolate chip cookies. Each batch had 4
cookies in it. Then he made an additional 9 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

5×4=20
20+9=29

6) Oliver earned 3 dollars for every lawn he mowed. If he mowed 5 lawns
and he already had 6 dollars saved up, how much money does he have
total?

5×3=15
15+6=21

7) At band practice there were 8 rows of students with 2 students in each
row and then another 3 students in the back. How many students were
there total?

8×2=16
16+3=19

8) Adam had 6 boxes of toys. Each box had 3 toys. Later Adam bought 8
more toys. How many toys did he have total?

6×3=18
18+8=26

Answers

1. 28

2. 29

3. 33

4. 31

5. 29

6. 21

7. 19

8. 26

1-8 88 75 63 50 38 25 13 0
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Solve each problem.

1) A chef only had 9 apples so he ordered 8 more bags. If each bag has 2
apples, how many apples does he have total?

8×2=16
16+9=25

2) A florist needed to use 3 pounds of fertilizer for 6 days and then on the
final day use the normal amount plus another 4 pounds. How many
pounds of fertilizer will she use all together?

3×6=18
18+4=22

3) Maria worked as a sacker at the grocery store where she made $5/hr. If
she worked for 9 hours and also made $7 in tips, how much money did
she earn?

9×5=45
45+7=52

4) A report said that each day the average Youtube viewer watches 3 videos
with each video lasting 6 minutes. Additionally they also watch 5 minutes
of ads. According to the report, how many minutes total do people spend
on Youtube?

3×6=18
18+5=23

5) A clothing company used 4 buttons on jeans and 5 buttons on shirts. If
they made 6 shirts and 1 pair of jeans how many buttons would they use
total?

5×6=30
30+4=34

6) It takes 6 ounces of cheese to make a burrito and 7 ounces for a taco. If
you wanted 9 burritos and 1 taco how many ounces of cheese would you
need?

9×6=54
54+7=61

7) Sam earned 4 dollars for every lawn he mowed. If he mowed 7 lawns and
he already had 8 dollars saved up, how much money does he have total?

7×4=28
28+8=36

8) Sarah had 6 math problems to complete. She spent about 4 minutes on
each problem and then she spent 8 minutes checking her answers. How
many minutes did she spend total?

6×4=24
24+8=32

9) A music teacher had 2 recorders, but she decided to buy 5 more boxes
with each box having 3 recorders in it. How many recorders did she have
after buying the 5 boxes?

5×3=15
15+2=17

10) Nancy bought an app that cost $3 dollars. Then each month you have to
pay $9 to play online. If she played the game online for 6 months, how
much money would she have spent total for the app and the online access?

9×6=54
54+3=57

Answers

1. 25

2. 22

3. 52

4. 23

5. 34

6. 61

7. 36

8. 32

9. 17

10. 57
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Solve each problem.

1) A chef only had 9 apples so he ordered 8 more bags. If each bag has 2
apples, how many apples does he have total?

8×2=16
16+9=25

2) A florist needed to use 3 pounds of fertilizer for 6 days and then on the
final day use the normal amount plus another 4 pounds. How many
pounds of fertilizer will she use all together?

3×6=18
18+4=22

3) Maria worked as a sacker at the grocery store where she made $5/hr. If
she worked for 9 hours and also made $7 in tips, how much money did
she earn?

9×5=45
45+7=52

4) A report said that each day the average Youtube viewer watches 3 videos
with each video lasting 6 minutes. Additionally they also watch 5 minutes
of ads. According to the report, how many minutes total do people spend
on Youtube?

3×6=18
18+5=23

5) A clothing company used 4 buttons on jeans and 5 buttons on shirts. If
they made 6 shirts and 1 pair of jeans how many buttons would they use
total?

5×6=30
30+4=34

6) It takes 6 ounces of cheese to make a burrito and 7 ounces for a taco. If
you wanted 9 burritos and 1 taco how many ounces of cheese would you
need?

9×6=54
54+7=61

7) Sam earned 4 dollars for every lawn he mowed. If he mowed 7 lawns and
he already had 8 dollars saved up, how much money does he have total?

7×4=28
28+8=36

8) Sarah had 6 math problems to complete. She spent about 4 minutes on
each problem and then she spent 8 minutes checking her answers. How
many minutes did she spend total?

6×4=24
24+8=32

9) A music teacher had 2 recorders, but she decided to buy 5 more boxes
with each box having 3 recorders in it. How many recorders did she have
after buying the 5 boxes?

5×3=15
15+2=17

10) Nancy bought an app that cost $3 dollars. Then each month you have to
pay $9 to play online. If she played the game online for 6 months, how
much money would she have spent total for the app and the online access?

9×6=54
54+3=57

Answers

1. 25

2. 22

3. 52

4. 23

5. 34

6. 61

7. 36

8. 32

9. 17

10. 57
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Solve each problem.

25 22 34 36 61

52 32 23

1) A chef only had 9 apples so he ordered 8 more bags. If each bag has 2
apples, how many apples does he have total?

8×2=16
16+9=25

2) A florist needed to use 3 pounds of fertilizer for 6 days and then on the
final day use the normal amount plus another 4 pounds. How many
pounds of fertilizer will she use all together?

3×6=18
18+4=22

3) Maria worked as a sacker at the grocery store where she made $5/hr. If
she worked for 9 hours and also made $7 in tips, how much money did
she earn?

9×5=45
45+7=52

4) A report said that each day the average Youtube viewer watches 3 videos
with each video lasting 6 minutes. Additionally they also watch 5 minutes
of ads. According to the report, how many minutes total do people spend
on Youtube?

3×6=18
18+5=23

5) A clothing company used 4 buttons on jeans and 5 buttons on shirts. If
they made 6 shirts and 1 pair of jeans how many buttons would they use
total?

5×6=30
30+4=34

6) It takes 6 ounces of cheese to make a burrito and 7 ounces for a taco. If
you wanted 9 burritos and 1 taco how many ounces of cheese would you
need?

9×6=54
54+7=61

7) Sam earned 4 dollars for every lawn he mowed. If he mowed 7 lawns and
he already had 8 dollars saved up, how much money does he have total?

7×4=28
28+8=36

8) Sarah had 6 math problems to complete. She spent about 4 minutes on
each problem and then she spent 8 minutes checking her answers. How
many minutes did she spend total?

6×4=24
24+8=32

Answers

1. 25

2. 22

3. 52

4. 23

5. 34

6. 61

7. 36

8. 32

1-8 88 75 63 50 38 25 13 0
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Solve each problem.

1) Billy spent $7 on a board game and then he bought 6 action figures for $8
each. How much money did he spend on the game and figures?

6×8=48
48+7=55

2) A baker made 4 batches of chocolate chip cookies. Each batch had 2
cookies in it. Then he made an additional 6 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

4×2=8
8+6=14

3) Paige had 7 math problems to complete. She spent about 9 minutes on
each problem and then she spent 4 minutes checking her answers. How
many minutes did she spend total?

7×9=63
63+4=67

4) It takes 7 ounces of cheese to make a burrito and 9 ounces for a taco. If
you wanted 2 burritos and 1 taco how many ounces of cheese would you
need?

2×7=14
14+9=23

5) A pet store sold 4 kittens and 1 puppy over the weekend. The kittens sold
for $2 each and the puppy sold for $3. How much money did they earn
from selling the pets?

4×2=8
8+3=11

6) A lawn care company bought 7 lawnmower blade for $4 each. They also
bought a spool of weed eater string for $9. How much money did they
spend on supplies?

7×4=28
28+9=37

7) At a comic convention Gwen wanted to buy 7 comics, but each one costs
3 dollars, plus it costs 5 to even get in. How much money should she take
with her so she can get in and buy what she wants?

7×3=21
21+5=26

8) Edward had 3 boxes of toys. Each box had 7 toys. Later Edward bought 5
more toys. How many toys did he have total?

3×7=21
21+5=26

9) Before lunch a waitress had already earned $6 in tips. After lunch she had
9 customers and each customer gave her a 7 dollar tip. How much money
did she earn total?

9×7=63
63+6=69

10) Katie's brother had 7 pieces of candy. Katie had 6 boxes with 4 pieces
each. How many pieces did they have total?

6×4=24
24+7=31

Answers

1. 55

2. 14

3. 67

4. 23

5. 11

6. 37

7. 26

8. 26

9. 69

10. 31
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Solve each problem.

1) Billy spent $7 on a board game and then he bought 6 action figures for $8
each. How much money did he spend on the game and figures?

6×8=48
48+7=55

2) A baker made 4 batches of chocolate chip cookies. Each batch had 2
cookies in it. Then he made an additional 6 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

4×2=8
8+6=14

3) Paige had 7 math problems to complete. She spent about 9 minutes on
each problem and then she spent 4 minutes checking her answers. How
many minutes did she spend total?

7×9=63
63+4=67

4) It takes 7 ounces of cheese to make a burrito and 9 ounces for a taco. If
you wanted 2 burritos and 1 taco how many ounces of cheese would you
need?

2×7=14
14+9=23

5) A pet store sold 4 kittens and 1 puppy over the weekend. The kittens sold
for $2 each and the puppy sold for $3. How much money did they earn
from selling the pets?

4×2=8
8+3=11

6) A lawn care company bought 7 lawnmower blade for $4 each. They also
bought a spool of weed eater string for $9. How much money did they
spend on supplies?

7×4=28
28+9=37

7) At a comic convention Gwen wanted to buy 7 comics, but each one costs
3 dollars, plus it costs 5 to even get in. How much money should she take
with her so she can get in and buy what she wants?

7×3=21
21+5=26

8) Edward had 3 boxes of toys. Each box had 7 toys. Later Edward bought 5
more toys. How many toys did he have total?

3×7=21
21+5=26

9) Before lunch a waitress had already earned $6 in tips. After lunch she had
9 customers and each customer gave her a 7 dollar tip. How much money
did she earn total?

9×7=63
63+6=69

10) Katie's brother had 7 pieces of candy. Katie had 6 boxes with 4 pieces
each. How many pieces did they have total?

6×4=24
24+7=31

Answers

1. 55

2. 14

3. 67

4. 23

5. 11

6. 37

7. 26

8. 26

9. 69

10. 31
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Solve each problem.

23 55 11 26 67

14 37 26

1) Billy spent $7 on a board game and then he bought 6 action figures for $8
each. How much money did he spend on the game and figures?

6×8=48
48+7=55

2) A baker made 4 batches of chocolate chip cookies. Each batch had 2
cookies in it. Then he made an additional 6 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

4×2=8
8+6=14

3) Paige had 7 math problems to complete. She spent about 9 minutes on
each problem and then she spent 4 minutes checking her answers. How
many minutes did she spend total?

7×9=63
63+4=67

4) It takes 7 ounces of cheese to make a burrito and 9 ounces for a taco. If
you wanted 2 burritos and 1 taco how many ounces of cheese would you
need?

2×7=14
14+9=23

5) A pet store sold 4 kittens and 1 puppy over the weekend. The kittens sold
for $2 each and the puppy sold for $3. How much money did they earn
from selling the pets?

4×2=8
8+3=11

6) A lawn care company bought 7 lawnmower blade for $4 each. They also
bought a spool of weed eater string for $9. How much money did they
spend on supplies?

7×4=28
28+9=37

7) At a comic convention Gwen wanted to buy 7 comics, but each one costs
3 dollars, plus it costs 5 to even get in. How much money should she take
with her so she can get in and buy what she wants?

7×3=21
21+5=26

8) Edward had 3 boxes of toys. Each box had 7 toys. Later Edward bought 5
more toys. How many toys did he have total?

3×7=21
21+5=26

Answers

1. 55

2. 14

3. 67

4. 23

5. 11

6. 37

7. 26

8. 26
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Solve each problem.

1) Vanessa worked as a sacker at the grocery store where she made $2/hr. If
she worked for 9 hours and also made $7 in tips, how much money did
she earn?

9×2=18
18+7=25

2) A music teacher had 8 recorders, but she decided to buy 5 more boxes
with each box having 4 recorders in it. How many recorders did she have
after buying the 5 boxes?

5×4=20
20+8=28

3) A lawn care company bought 2 lawnmower blade for $4 each. They also
bought a spool of weed eater string for $3. How much money did they
spend on supplies?

2×4=8
8+3=11

4) A malt shop used 3 ounces of chocolate syrup in their shakes and 8
ounces of syrup on their cones. If they sold 5 shakes and 1 cone, how
many ounces of chocolate would they use total?

3×5=15
15+8=23

5) A company was offering a special on cell phones for $6 each. But only if
you spent 9 dollars a month for 5 months. How much would it end up
costing you total if you bought 1 phone?

9×5=45
45+6=51

6) Katie bought an app that cost $2 dollars. Then each month you have to
pay $5 to play online. If she played the game online for 3 months, how
much money would she have spent total for the app and the online access?

5×3=15
15+2=17

7) Adam earned 9 dollars for every lawn he mowed. If he mowed 2 lawns
and he already had 6 dollars saved up, how much money does he have
total?

2×9=18
18+6=24

8) A report said that each day the average Youtube viewer watches 2 videos
with each video lasting 6 minutes. Additionally they also watch 5 minutes
of ads. According to the report, how many minutes total do people spend
on Youtube?

2×6=12
12+5=17

9) Emily's brother had 6 pieces of candy. Emily had 2 boxes with 9 pieces
each. How many pieces did they have total?

2×9=18
18+6=24

10) A baker made 8 batches of chocolate chip cookies. Each batch had 7
cookies in it. Then he made an additional 3 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

8×7=56
56+3=59

Answers

1. 25

2. 28

3. 11

4. 23

5. 51

6. 17

7. 24

8. 17

9. 24

10. 59
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Solve each problem.

1) Vanessa worked as a sacker at the grocery store where she made $2/hr. If
she worked for 9 hours and also made $7 in tips, how much money did
she earn?

9×2=18
18+7=25

2) A music teacher had 8 recorders, but she decided to buy 5 more boxes
with each box having 4 recorders in it. How many recorders did she have
after buying the 5 boxes?

5×4=20
20+8=28

3) A lawn care company bought 2 lawnmower blade for $4 each. They also
bought a spool of weed eater string for $3. How much money did they
spend on supplies?

2×4=8
8+3=11

4) A malt shop used 3 ounces of chocolate syrup in their shakes and 8
ounces of syrup on their cones. If they sold 5 shakes and 1 cone, how
many ounces of chocolate would they use total?

3×5=15
15+8=23

5) A company was offering a special on cell phones for $6 each. But only if
you spent 9 dollars a month for 5 months. How much would it end up
costing you total if you bought 1 phone?

9×5=45
45+6=51

6) Katie bought an app that cost $2 dollars. Then each month you have to
pay $5 to play online. If she played the game online for 3 months, how
much money would she have spent total for the app and the online access?

5×3=15
15+2=17

7) Adam earned 9 dollars for every lawn he mowed. If he mowed 2 lawns
and he already had 6 dollars saved up, how much money does he have
total?

2×9=18
18+6=24

8) A report said that each day the average Youtube viewer watches 2 videos
with each video lasting 6 minutes. Additionally they also watch 5 minutes
of ads. According to the report, how many minutes total do people spend
on Youtube?

2×6=12
12+5=17

9) Emily's brother had 6 pieces of candy. Emily had 2 boxes with 9 pieces
each. How many pieces did they have total?

2×9=18
18+6=24

10) A baker made 8 batches of chocolate chip cookies. Each batch had 7
cookies in it. Then he made an additional 3 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

8×7=56
56+3=59

Answers

1. 25

2. 28

3. 11

4. 23

5. 51

6. 17

7. 24

8. 17

9. 24

10. 59
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Solve each problem.

17 24 11 25 51

28 23 17

1) Vanessa worked as a sacker at the grocery store where she made $2/hr. If
she worked for 9 hours and also made $7 in tips, how much money did
she earn?

9×2=18
18+7=25

2) A music teacher had 8 recorders, but she decided to buy 5 more boxes
with each box having 4 recorders in it. How many recorders did she have
after buying the 5 boxes?

5×4=20
20+8=28

3) A lawn care company bought 2 lawnmower blade for $4 each. They also
bought a spool of weed eater string for $3. How much money did they
spend on supplies?

2×4=8
8+3=11

4) A malt shop used 3 ounces of chocolate syrup in their shakes and 8
ounces of syrup on their cones. If they sold 5 shakes and 1 cone, how
many ounces of chocolate would they use total?

3×5=15
15+8=23

5) A company was offering a special on cell phones for $6 each. But only if
you spent 9 dollars a month for 5 months. How much would it end up
costing you total if you bought 1 phone?

9×5=45
45+6=51

6) Katie bought an app that cost $2 dollars. Then each month you have to
pay $5 to play online. If she played the game online for 3 months, how
much money would she have spent total for the app and the online access?

5×3=15
15+2=17

7) Adam earned 9 dollars for every lawn he mowed. If he mowed 2 lawns
and he already had 6 dollars saved up, how much money does he have
total?

2×9=18
18+6=24

8) A report said that each day the average Youtube viewer watches 2 videos
with each video lasting 6 minutes. Additionally they also watch 5 minutes
of ads. According to the report, how many minutes total do people spend
on Youtube?

2×6=12
12+5=17

Answers

1. 25

2. 28

3. 11

4. 23

5. 51

6. 17

7. 24

8. 17

1-8 88 75 63 50 38 25 13 0
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